Ising Model: Transfer Matrix (H=0)

Alexis Zaganidis (LMU, Munich)

Seminar: Renormalization Group Theory and Critical Phenomena, Munich May 12, 2009

イロン イヨン イヨン イヨン

Introduction - A review



 We consider a set of spin-1/2's arranged on a square lattice of size M×N, interacting only with nearest neighbours, without any external magnetic field.

Introduction - A review



- We consider a set of spin-1/2's arranged on a square lattice of size M×N, interacting only with nearest neighbours, without any external magnetic field.
- J₁ and J₂ are the coupling constants along vertical and horizontal axes, respectively.

A ■

Figure: The square lattice

- The Hamiltonian takes the form:

$$-\beta E(\sigma) = \beta J_1 \sum_{n,m=1}^{N,M} \sigma_{n,m} \sigma_{n,m+1} + \beta J_2 \sum_{n,m=1}^{N,M} \sigma_{n,m} \sigma_{n+1,m}$$

<ロ> (四) (四) (注) (注) (三)

- The Hamiltonian takes the form:

$$-\beta E(\sigma) = \beta J_1 \sum_{n,m=1}^{N,M} \sigma_{n,m} \sigma_{n,m+1} + \beta J_2 \sum_{n,m=1}^{N,M} \sigma_{n,m} \sigma_{n+1,m}$$

- With boundary conditions:

$$\sigma_{N+1,m} = \sigma_{1,m}$$
$$\sigma_{n,M+1} = \sigma_{n,1}$$

- The Hamiltonian takes the form:

$$-\beta E(\sigma) = \beta J_1 \sum_{n,m=1}^{N,M} \sigma_{n,m} \sigma_{n,m+1} + \beta J_2 \sum_{n,m=1}^{N,M} \sigma_{n,m} \sigma_{n+1,m}$$

- With boundary conditions:

$$\sigma_{N+1,m} = \sigma_{1,m}$$

$$\sigma_{n,M+1} = \sigma_{n,1}$$

- With these conditions, the square lattice is topologically equivalent to the 2-torus.

▲圖▶ ▲屋▶ ▲屋▶

æ

- The Hamiltonian takes the form:

$$-\beta E(\sigma) = \beta J_1 \sum_{n,m=1}^{N,M} \sigma_{n,m} \sigma_{n,m+1} + \beta J_2 \sum_{n,m=1}^{N,M} \sigma_{n,m} \sigma_{n+1,m}$$

- With boundary conditions:

$$\sigma_{N+1,m} = \sigma_{1,m}$$

$$\sigma_{n,M+1} = \sigma_{n,1}$$

- With these conditions, the square lattice is topologically equivalent to the 2-torus.
- We set:

$$K_i := \beta J_i, \ i = 1, 2$$
$$\vec{\sigma}_n := (\sigma_{n,1}, ..., \sigma_{n,M})$$

▲圖▶ ▲屋▶ ▲屋▶

3

- The Hamiltonian takes the form:

$$-\beta E(\sigma) = \beta J_1 \sum_{n,m=1}^{N,M} \sigma_{n,m} \sigma_{n,m+1} + \beta J_2 \sum_{n,m=1}^{N,M} \sigma_{n,m} \sigma_{n+1,m}$$

- With boundary conditions:

$$\sigma_{N+1,m} = \sigma_{1,m}$$

$$\sigma_{n,M+1} = \sigma_{n,1}$$

- With these conditions, the square lattice is topologically equivalent to the 2-torus.
- We set:

$$K_i := \beta J_i, \ i = 1, 2$$
$$\vec{\sigma}_n := (\sigma_{n,1}, ..., \sigma_{n,M})$$

3

- Note: each $\sigma_{n,m}$ is a classical variable taking value ± 1

Transfer Matrix New form for the Transfer Matrix Transfer Matrix - Consequences Questions

æ

Transfer Matrix

- Definition of the Transfer Matrix:

$$V(\vec{\sigma}_n, \vec{\sigma}_{n+1}) = \exp\left(\frac{1}{2}\mathbb{K}_1(\vec{\sigma}_n) + \mathbb{K}_2(\vec{\sigma}_n, \vec{\sigma}_{n+1}) + \frac{1}{2}\mathbb{K}_1(\vec{\sigma}_{n+1})\right)$$

Transfer Matrix New form for the Transfer Matrix Transfer Matrix - Consequences Questions

æ

Transfer Matrix

- Definition of the Transfer Matrix:

$$V(\vec{\sigma}_n, \vec{\sigma}_{n+1}) = \exp\left(\frac{1}{2}\mathbb{K}_1(\vec{\sigma}_n) + \mathbb{K}_2(\vec{\sigma}_n, \vec{\sigma}_{n+1}) + \frac{1}{2}\mathbb{K}_1(\vec{\sigma}_{n+1})\right)$$

-
$$V(ec{\sigma}_n,ec{\sigma}_{n+1})$$
 is a $2^M imes 2^M$ symmetric matrix

Transfer Matrix New form for the Transfer Matrix Transfer Matrix - Consequences Questions

Transfer Matrix

- Definition of the Transfer Matrix:

$$V(\vec{\sigma}_n, \vec{\sigma}_{n+1}) = \exp\left(\frac{1}{2}\mathbb{K}_1(\vec{\sigma}_n) + \mathbb{K}_2(\vec{\sigma}_n, \vec{\sigma}_{n+1}) + \frac{1}{2}\mathbb{K}_1(\vec{\sigma}_{n+1})\right)$$

- $V(ec{\sigma}_n,ec{\sigma}_{n+1})$ is a $2^M imes 2^M$ symmetric matrix

- Therefore, we can calculate the partition function in terms of the transfer matrix:

$$Z = \sum_{\vec{\sigma}_{1}...\vec{\sigma}_{N}} \exp(-\beta E(\vec{\sigma}_{1},...\vec{\sigma}_{N}))$$

=
$$\sum_{\vec{\sigma}_{1}...\vec{\sigma}_{N}} V(\vec{\sigma}_{1},\vec{\sigma}_{2})...V(\vec{\sigma}_{N},\vec{\sigma}_{1}) = \sum_{\vec{\sigma}_{1}} V^{N}(\vec{\sigma}_{1},\vec{\sigma}_{1}) = TrV^{N}$$

イロン イヨン イヨン イヨン

2

Transfer Matrix New form for the Transfer Matrix Transfer Matrix - Consequences Questions

・ロン ・回と ・ヨン ・ヨン

æ

New form for the Transfer Matrix

- Eigenvalue of the symmetric transfer matrix:

$$\sum_{\vec{\sigma}'} V(\vec{\sigma}, \vec{\sigma}') \psi_{\nu}(\vec{\sigma}') = \lambda_{\nu} \psi_{\nu}(\vec{\sigma})$$

Transfer Matrix New form for the Transfer Matrix Transfer Matrix - Consequences Questions

・ロト ・回ト ・ヨト ・ヨト

2

New form for the Transfer Matrix

- Eigenvalue of the symmetric transfer matrix:

$$\sum_{ec{\sigma}'} oldsymbol{V}(ec{\sigma},ec{\sigma}')\psi_
u(ec{\sigma}') = \lambda_
u\psi_
u(ec{\sigma})$$

- We deduce for the partition function:

$$Z = \sum_{\nu=1}^{2^M} \lambda_{\nu}^N$$

(In the thermodynamic limit $(N \to \infty)$, only highest eigenvalues contribute to the free energy per particle)

Transfer Matrix New form for the Transfer Matrix Transfer Matrix - Consequences Questions

白 と く ヨ と く ヨ と …

New form for the Transfer Matrix

- Eigenvalue of the symmetric transfer matrix:

$$\sum_{ec{\sigma}'} m{V}(ec{\sigma},ec{\sigma}')\psi_
u(ec{\sigma}') = \lambda_
u\psi_
u(ec{\sigma})$$

- We deduce for the partition function:

$$Z = \sum_{\nu=1}^{2^M} \lambda_{\nu}^N$$

(In the thermodynamic limit ($N \to \infty$), only highest eigenvalues contribute to the free energy per particle)

- We rewrite this equation in a new form:

$$\begin{array}{l} \text{matrix } V \implies \text{operator } \hat{V} \text{ on } \bigotimes_{1}^{M} H_{\left(\frac{1}{2}\right)} \\ \text{vector } \psi \implies \bar{\psi} \in \bigotimes_{1}^{M} H_{\left(\frac{1}{2}\right)} \\ H_{\left(\frac{1}{2}\right)} \text{ is the hilbert space of a spin-} \frac{1}{2}. \end{array}$$

Introduction - A review Transfer Matrix Transfer Matrix Questions

- We get:

$$ar{\psi} = \sum_{ec{\sigma}} \psi(ec{\sigma}) \chi_{\sigma_1}(1) \otimes ... \otimes \chi_{\sigma_M}(M)$$

with $\chi_{\sigma=+1} := \begin{pmatrix} 1 \\ 0 \end{pmatrix}$ and $\chi_{\sigma=-1} := \begin{pmatrix} 0 \\ 1 \end{pmatrix}$

(ロ) (四) (E) (E) (E)

- We get:

$$ar{\psi} = \sum_{ec{\sigma}} \psi(ec{\sigma}) \chi_{\sigma_1}(1) \otimes ... \otimes \chi_{\sigma_M}(M)$$

with
$$\chi_{\sigma=+1} := \begin{pmatrix} 1 \\ 0 \end{pmatrix}$$
 and $\chi_{\sigma=-1} := \begin{pmatrix} 0 \\ 1 \end{pmatrix}$

- Now, we look for $\hat{\mathcal{V}}$ such that: $\hat{\mathcal{V}}ar{\psi}=ar{\psi}'$

- We get:

$$ar{\psi} = \sum_{ec{\sigma}} \psi(ec{\sigma}) \chi_{\sigma_1}(1) \otimes ... \otimes \chi_{\sigma_M}(M)$$

with
$$\chi_{\sigma=+1} := \begin{pmatrix} 1 \\ 0 \end{pmatrix}$$
 and $\chi_{\sigma=-1} := \begin{pmatrix} 0 \\ 1 \end{pmatrix}$

- Now, we look for \hat{V} such that: $\hat{V}ar{\psi}=ar{\psi}'$

- Since,

$$\psi(\vec{\sigma}) = <\chi_{\sigma_1}(1)\otimes...\otimes\chi_{\sigma_M}(M)\mid ar{\psi}>$$

- We get:

$$ar{\psi} = \sum_{ec{\sigma}} \psi(ec{\sigma}) \chi_{\sigma_1}(1) \otimes ... \otimes \chi_{\sigma_M}(M)$$

with
$$\chi_{\sigma=+1} := \begin{pmatrix} 1 \\ 0 \end{pmatrix}$$
 and $\chi_{\sigma=-1} := \begin{pmatrix} 0 \\ 1 \end{pmatrix}$

- Now, we look for \hat{V} such that: $\hat{V}ar{\psi}=ar{\psi}'$

- Since,

$$\psi(ec{\sigma}) = <\chi_{\sigma_1}(1)\otimes...\otimes\chi_{\sigma_M}(M)\mid ar{\psi}>$$

$$\implies <\chi_{\sigma_1'}(1)\otimes ...\otimes \chi_{\sigma_M'}(M)\mid \hat{V}\bar{\psi}>=\psi'(\bar{\sigma}')$$

- We get:

$$ar{\psi} = \sum_{ec{\sigma}} \psi(ec{\sigma}) \chi_{\sigma_1}(1) \otimes ... \otimes \chi_{\sigma_M}(M)$$

with
$$\chi_{\sigma=+1} := \begin{pmatrix} 1 \\ 0 \end{pmatrix}$$
 and $\chi_{\sigma=-1} := \begin{pmatrix} 0 \\ 1 \end{pmatrix}$

- Now, we look for \hat{V} such that: $\hat{V}ar{\psi}=ar{\psi}$

- Since,

$$\psi(ec{\sigma}) = <\chi_{\sigma_1}(1)\otimes...\otimes\chi_{\sigma_M}(M)\mid ar{\psi}>$$

$$\Longrightarrow < \chi_{\sigma'_1}(1) \otimes \ldots \otimes \chi_{\sigma'_M}(M) \mid \hat{V}\bar{\psi} > = \psi'(\vec{\sigma}')$$

- We define $\hat{\sigma}_m^z = \mathbb{1} \otimes ... \otimes \hat{\sigma}^z \otimes ... \otimes \mathbb{1}$ where $\hat{\sigma}^z$ is a Pauli Matrix at the m position and we define $\hat{\sigma}_m^x$ and $\hat{\sigma}_m^y$ in the same way. For convenience, we write σ_m^x , σ_m^y and σ_m^z .

イロト イヨト イヨト イヨト

æ

Transfer Matrix New form for the Transfer Matrix Transfer Matrix - Consequences Questions

 $exp(\frac{1}{2}\mathbb{K}_1), exp(\mathbb{K}_2) \implies \prod_{m=1}^{M} exp(\frac{\kappa_1}{2}\sigma_m^z \sigma_{m+1}^z), \prod_{m=1}^{M} exp(\kappa_2 \sigma_m^{z'} \sigma_m^z)$

Introduction - A review Transfer Matrix Transfer Matrix Transfer Matrix Consequences Questions

$$exp(\frac{1}{2}\mathbb{K}_1), exp(\mathbb{K}_2) \implies \prod_{m=1}^{M} exp(\frac{\kappa_1}{2}\sigma_m^z \sigma_{m+1}^z), \prod_{m=1}^{M} exp(\kappa_2 \sigma_m^{z'} \sigma_m^z)$$

- For each m, we have this matrix form:

$$e^{\sigma^{z'}\sigma^{z}} = \begin{pmatrix} e^{K_2} & e^{-K_2} \\ e^{-K_2} & e^{K_2} \end{pmatrix} = e^{K_2}(1 + e^{-2K_2}\sigma^{x}) = \dots$$

= $\sqrt{2\sinh(2K_2)}e^{K_2^*\sigma^{x}}$, with $\tanh(K_2^*) = e^{-2K_2}$

Transfer Matrix Introduction - A review New form for the Transfer Matrix Transfer Matrix **Transfer Matrix - Consequences** Questions

$$exp(\frac{1}{2}\mathbb{K}_1), exp(\mathbb{K}_2) \implies \prod_{m=1}^{M} exp(\frac{\kappa_1}{2}\sigma_m^z \sigma_{m+1}^z), \prod_{m=1}^{M} exp(\kappa_2 \sigma_m^{z'} \sigma_m^z)$$

- For each m, we have this matrix form:

$$e^{\sigma^{z'}\sigma^{z}} = \begin{pmatrix} e^{K_2} & e^{-K_2} \\ e^{-K_2} & e^{K_2} \end{pmatrix} = e^{K_2}(1 + e^{-2K_2}\sigma^{x}) = \dots$$
$$= \sqrt{2\mathrm{sinh}(2K_2)}e^{K_2^*\sigma^{x}}, \text{ with } \mathrm{tanh}(K_2^*) = e^{-2K_2}$$

- Final result:

$$\hat{V} = (2\sinh(2K_2))^{\frac{M}{2}} \times \exp\left(\frac{K_1}{2}\sum_{1}^{M}\sigma_m^z\sigma_{m+1}^z\right) \exp\left(K_2^*\sum_{1}^{M}\sigma_m^x\right) \exp\left(\frac{K_1}{2}\sum_{1}^{M}\sigma_m^z\sigma_{m+1}^z\right)$$

М

Introduction - A review Transfer Matrix Transfer Matrix Transfer Matrix Questions

 $exp(\frac{1}{2}\mathbb{K}_1), exp(\mathbb{K}_2) \implies \prod_{m=1}^{M} exp(\frac{\kappa_1}{2}\sigma_m^z \sigma_{m+1}^z), \prod_{m=1}^{M} exp(\kappa_2 \sigma_m^{z'} \sigma_m^z)$

- For each m, we have this matrix form:

$$e^{\sigma^{z'}\sigma^{z}} = \begin{pmatrix} e^{K_2} & e^{-K_2} \\ e^{-K_2} & e^{K_2} \end{pmatrix} = e^{K_2}(1 + e^{-2K_2}\sigma^{x}) = \dots$$
$$= \sqrt{2\mathrm{sinh}(2K_2)}e^{K_2^*\sigma^{x}}, \text{ with } \mathrm{tanh}(K_2^*) = e^{-2K_2}$$

- Final result:

1

Λ1

 $\hat{V} = (2\sinh(2K_2))^{\frac{M}{2}} \times (M_1)^{\frac{M}{2}} \times (M_2)^{\frac{M}{2}} \times (M_2)^{\frac{M}{2}}$

11

イロン イ部ン イヨン イヨン 三日

$$\exp\left(\frac{K_1}{2}\sum_{1}^{m}\sigma_m^z\sigma_{m+1}^z\right)\exp\left(K_2^*\sum_{1}^{m}\sigma_m^x\right)\exp\left(\frac{K_1}{2}\sum_{1}^{m}\sigma_m^z\sigma_{m+1}^z\right)$$

- \hat{V} represents V in the Fock space $\bigotimes_{1}^{M} \chi$ (i.e. matrix elements of \hat{V} in Fock space are $V(\vec{\sigma}, \vec{\sigma}')$)

Transfer Matrix New form for the Transfer Matrix Transfer Matrix - Consequences Questions

・ロン ・雪 ・ ・ ヨ ・ ・ ヨ ・ ・

æ

Transfer Matrix - Consequences

 If K₁, K₂^{*} << 1, we can neglect noncommutative terms and we get:

$$\hat{V} \approx (2\sinh(2K_2))^{\frac{M}{2}} e^{-\hat{\mathbb{H}}}$$

with $\hat{\mathbb{H}} = K_2^* (-\sum_m \sigma_m^x - \frac{K_1}{K_2^*} \sum_m \sigma_m^z \sigma_{m+1}^z)$

Transfer Matrix New form for the Transfer Matrix Transfer Matrix - Consequences Questions

→ Ξ → ...

Transfer Matrix - Consequences

 If K₁, K₂^{*} << 1, we can neglect noncommutative terms and we get:

$$\hat{V} \approx (2 \sinh(2K_2))^{\frac{M}{2}} e^{-\hat{\mathbb{H}}}$$

with $\hat{\mathbb{H}} = K_2^* (-\sum_m \sigma_m^x - \frac{K_1}{K_2^*} \sum_m \sigma_m^z \sigma_{m+1}^z)$

- Now, we want to connect our $\hat{\mathbb{H}}$ to the quantum Hamiltonian of the second talk about the scaling approximation:

$$\frac{\hat{\mathbb{H}}}{K_{2}^{*}} = \hat{H} = -\sum_{m} \sigma_{m}^{x} - \Lambda \sum_{m} \sigma_{m}^{z} \sigma_{m+1}^{z}$$
with $\Lambda = \frac{K_{1}}{K_{2}^{*}}$

Transfer Matrix New form for the Transfer Matrix Transfer Matrix - Consequences Questions

Transfer Matrix - Consequences

 If K₁, K₂^{*} << 1, we can neglect noncommutative terms and we get:

$$\hat{V} \approx (2\sinh(2K_2))^{\frac{M}{2}} e^{-\hat{\mathbb{H}}}$$
with $\hat{\mathbb{H}} = K_2^* (-\sum_m \sigma_m^x - \frac{K_1}{K_2^*} \sum_m \sigma_m^z \sigma_{m+1}^z)$

- Now, we want to connect our $\hat{\mathbb{H}}$ to the quantum Hamiltonian of the second talk about the scaling approximation:

$$\frac{\hat{\mathbb{H}}}{K_{2}^{*}} = \hat{H} = -\sum_{m} \sigma_{m}^{x} - \Lambda \sum_{m} \sigma_{m}^{z} \sigma_{m+1}^{z}$$
with $\Lambda = \frac{K_{1}}{K_{2}^{*}}$

- Last remark:

$$K_2^* << 1 \implies \Lambda = \frac{K_1}{K_2^*} \approx \frac{K_1}{tanh(K_2^*)} = \frac{K_1}{e^{-2K_2}} =: \frac{K}{e^{-2K_\tau}} = \lambda$$

Transfer Matrix New form for the Transfer Matrix Transfer Matrix - Consequences Questions

◆□ > ◆□ > ◆臣 > ◆臣 > ○

æ



Questions

Alexis Zaganidis (LMU, Munich) Ising Model: Transfer Matrix (H=0)